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m/n P(A) 

P(A) = n
m

= A
A

 :  0 m n  A 
m = n 

P (A) = 1 
 A  m = 0 

P (A) = 0 0  P (A)  1 
A

A A 
m, n 

P ( A ) = n
m1n

mn   = 1– P (A) 
  P (A) + P ( A ) = 1 

 : 
(i)  : 52 (26 , 26 ) 
(ii)  : 13 
(iii)  : 12 (4 , 4 , 4 ) 

(iv) :16 (4 , 4 , 4 , 4 ) 

 
Ex.1 

 : 
(i) 
(ii)  1  

Sol.  
s = {1, 2, 3, 4, 5, 6} ×{1, 2, 3, 4, 5, 6}. 

 n (s) = 6 × 6 = 36 
(i)  E1 = 

 = {(1, 1) (2, 2) (3, 3) (4, 4) (5, 5) (6, 6) } 
 n (E1 ) = 6 
 P (E1) = 6

1
36
6

)s(n
)E(n 1 

(ii) E2 = 1 

= {(1, 2) (2, 1) (2, 3) (3, 2) (3, 4) (4, 3) 
(4, 5) (5, 4) (5, 6) (6, 5)} 
 n (E2) = 10 
 p (E2) = 18

5
36
10

)s(n
)E(n 2 

 

Ex.2  - 
(i) 
(ii) 

Sol.  
S = (H, T) × (H, T) × (H, T) 

  n (s) = 2 × 2 × 2 = 8 



 

(i)  E1 = 
= {HHT, HTH, THH} 

n (E1) = 3 P (E1) = 8
3

)s(n
)E(n 1 

(ii) E2 = {HTT, THT, TTH, TTT} 
n (E2) = 4, 
 P(E2) = 2

1
8
4

)s(n
)E(n 2 

Ex.3 
 (a) 3 

(b) 
Sol.(a)  6  3 


= = 6

1

(b)  = 6 
 2, 4, 6  = 3 

= 6
3  = 2

1
 

Ex.4 52 

Sol.   26  (  2 
)  2 
 28 

(52 – 28) = 24 1 
 = 52

24  = 13
6

 

Ex.5 5 

Sol.   5 4 
 1, 2, 3  4 

 = 4 
  1, 2, 3, 4, 5  6 
  = 6 
 P(5 ) = 6

4  = 3
2

 

Ex.6  0.3 
 ? 

Sol.   = 0.3 
 = q ( ) 

 0.3 + q = 1 
 q = 1 – 0.3 
 q = 0.7 

Ex.7 

(i) 
(ii) 
(iii) 

Sol.   H  T 



(i)  = P(HH) 
= = 4

1

(ii) 
= P(HT  TH  HH) 
=  = 4

3

(iii)  = P(TT) 
= = 4

1
 

Ex.8  - 
(i) 



(ii) 3 , 2 , 1  0 

(iii) 3 , 2 , 1 

Sol.   H  T 

(i)  = {HHH, HHT, HTH, 
THH, HTT, THT, TTH, TTT} 8 

(ii) 3  = (HHH) = 1 
2  = {HHT, HTH, THH} = 3 
1   = {HTT, THT, TTH} = 3 
0  = {TTT} =1 

(iii)  3  = P (HHH) 
= 3  = 8

1

= P(HHT  THH  HTH) 
= 2 = 8

3

= P (HTT  THT  TTH) 
= 1 = 8

3

= P (TTT) 
=  = 8

1

Ex.9  52 

(i) 
(ii) ‘2’ 
(iii) ‘10’ 

Sol.(i)  4 

  = 4 
  = 52. 
  = 52 
 P( ) = 52

4  = 13
1

(ii)  ‘2’  = 1 
 = 1 

 = 52 
 P( ‘2’) = 52

1

(iii)  ‘10’  2  (
) 

  = 2 
 = 52 

 P( ‘10’ ) = 52
2  = 26

1

Ex.10  12  x 
(i) 

 ? 
(ii)  6 

 (i) 
x 

Sol.  

 = 12 
  = 12 
 = x 

(i)  12  = x 
 P( ) = = 12

x

(ii)  6 
 = x + 6 

 = 12 + 6 = 18 
 P ( ) =



= 612
6x




, 

= 2 × 

  18
6x  = 2 



12
x   18

6x   = 6
x

 6x + 36 – 18x 12x = 36 
 x = 3 

 = 3 
Ex.11  53 
Sol.   = 366 

, 366  = 52  2 

(i) 
(ii) 
(iii) 
(iv) 
(v) 
(vi) 
(vii) 

 53 

  = 2 
 = 7 

 P( 53 ) = 7
2

 

Ex.12 
 : 

(i) , (ii) 
(iii) 
(iv) 

Sol.  
HHH, HHT, HTH, THH, HTT, THT, TTH, TTT 
  = 8 

(i)  " " 
HHH  HHH 
  = 1 

 = 8
1

(ii)  " " 
 HHT, THH, HTH 

  = 3 
= 8

3

(iii)  " " HTT, THT, TTH 
  = 3 

= 8
3

(iv) 
 HHH, HHT, HTH  THH 

  = 4 
= 2

1
8
4 

 

Ex.13 17  1, 2, 3 ... 17 

(i) 
(ii) 
(iii) 3 
(iv) 3  2 

Sol.   17 
 17 

  = 17 
(i) 9  1, 3, 5, 7, 9, 11, 13, 15, 

17 9 
 9 

  = 9 
= 17

9

(ii) 7  2, 3, 5, 7, 11, 13, 17 
7 

7 
   = 7 



 P ( ) = 17
7

(iii)  A  3 
 A 3, 6, 9, 12, 15 

  = 5 
 P (3 ) = 17

5

(iv)  3  2 
 6 1, 

2, 3 ..., 17  2  3  2 
 6 

6  12 
  = 2 

 P (3  2 ) = 17
2

 

Ex.14  5 8  4 
7 

(i) (ii)         (iii) 
Sol.  = 5 + 8 + 4 + 7 = 24 

  = 24 
(i)   7 

  = 7 
 P ( ) = 24

7

(ii)  5 
  = 5 

 P ( ) = 24
5

(iii)  5 + 8 + 7 = 20 
  = 20 

 P ( ) = 6
5

24
20 

 

Ex.15 1 25 

Sol.   (1, 2, 3, 4, ... 25) = 25 
25  = 2, 3, 5, 7, 11, 
13, 17, 19, 23 

 = 25 – 9 = 16 
 = 25  

 = 16 
P = 

P ( ) = 25
16

Ex.16 50 
1 2 

5 

(i) 50 
(ii) 5 

Sol.  50  = 100 
1  = 50 
2  = 20 
5  = 10 

(i) 50 
= 100 

 = 100 + 50 + 20 + 10 = 180 
 = 180  

P = 



P (50 p) = 180
100  = 9

5

(ii) 5 
 = 180 – 10 = 170 

P = 

P (5 ) = 180
170  = 18

17

Ex.17 (i) 20  4 

 ? 
(ii)  (i) 

 ? 
Sol. (i)  = 20 

 = 20 
 = 4 

P = 

P ( ) = 5
1

20
4 

(ii) 
= 19 

 = 4 
 = 19 – 4 = 15 

 = 15 

 = 19 
P = 

P ( ) = 19
15

Ex.18 
1, 2, 3, 4, 5, 6, 7, 8 ( ) 

8 1 2
34 56

7

(i) 8 
(ii) 
(iii) 2 
(iv) 9 

Sol.   = 8 
(i)  8  = 1 

8  = 1 
P = 

P (8) = 8
1

(ii) 1, 3, 5, 7 = 4 
 = 4 

P = ( ) = 2
1

8
4 

(iii) 2  = 6 
2 

 = 6 
P = (2 ) = 4

3
8
6 

(iv) 9  = 8 
9 

 = 8 
P (9 ) = 8

8  = 1 



 

Ex.19 3  2 
0.992 2 

 ? 
Sol.  3 2 

 = 0.992 
3  2 

[ p + q = 1] = 1 – 0.992 = 0.008  
Ex.20  52 

Sol.  2  = 26 
 = 2 

 2  2 
 = 26 + 2 = 28 

= 52 – 28 = 24 
P = 

P ( ) = 13
6

52
24 

 

Ex.21 

(i) 
(ii) 

Sol.  

(i) (
) = 3 × 4 = 12 

 = 52 
  = 52 
P = 

P ( ) = 13
3

52
12 

(ii)  2 × 3 = 6 

 = 6 
P = 

P ( ) = 26
3

52
6 

 

Ex.22 

2 
2 36

1

3 
4 
5 
6 
7 
8 36

5

9 
10 
11 
12 36

1
 

Sol.   = 6 × 6 = 36 
(i)  (2) 

= (1,1) = 1 
P = 

 P (  2) = 36
1

(ii)  (3)  (1, 2), (2, 1) = 2 

P (  3) = 36
2



(iii)  (4) {2, 2), (1, 3), 
(3, 1)} 

 (4)  = 3 
P (  4) = 36

3

(iv)  (5) {(1, 4), (4, 1), 
(2, 3), (3, 2)} 

(5)  = 4 
P (  5) = 36

4

(v)  (6) {(1, 5), (5, 1), 
(2, 4), (4, 2), (3, 3)} 

(6) 
= 5 

P (  6) = 36
5

(vi)  (7) {(1, 6), (6, 1), 
(2, 5), (5, 2), (3, 4), (4, 3)} 

(7) 
 = 6 

P (  7) = 36
6

(vii)  (8) {(2, 6), (6, 2), 
(3, 5), (5, 3), (4, 4)} 

(8) 
 = 5 

P (  8) = 36
5

(viii)  (9) {(3, 6), (6, 3), 
(4, 5), (5, 4)} 

(9)  = 4 
P (  9) = 36

4

(ix)  (10) {(4, 6), (6, 4), 
(5, 5)} 

(10) = 3 

P (  10) = 36
3

(x)  (11) {(6, 5), (5, 6)} 
 (11) 

 = 2 
P (  11) = 36

2

(xi)  (12)  (6, 6) 
(12) 

 = 1 
P (  12) = 36

1

2 
2 36

1

3 36
2

4 36
3

5 36
4

6 36
5

7 36
6

8 36
5

9 36
4

10 36
3

11 36
2

12 36
1

 

Ex.23 
 ( ) 



(i) 
(ii) 
(iii)  ? 

Sol.  

 = 5 × 5 = 25 
(i) 

 = 5 
 =

P ( ) = 5
1

25
5 

(ii) 
= 25 – 5 = 20 

P = 

P ( ) = 5
4

25
20 

(iii) 

T W Th F 
W Th F S 

T W Th F 
W Th F S 

 = 4 + 4 = 8 
 = 8 

P ( ) 
= = 25

8

Ex.24  12  x 
(i) 

? 
(ii) 6 

 (i)  x 

Sol.  

 = 12 
  = 12 

 = x 
(i)  12  = x 

P ( ) 
= = 12

x

(ii) 6 
 = x + 6 

 = 12 + 6 = 18 
P ( ) =

= 612
6x




, 

= 2 × 

 18
6x   = 2 



12
x    18

6x   = 6
x

 6x + 36 = 18 x      12x = 36 
 x = 3 

 = 3 

Ex.25  20 ,  1, 2, 3, 4, ... 20 

(i)  (ii) 2  3 



(iii)  (iv) 10 
Sol.   = 20 

 =
(i) 20  = 10 

 = 10 
P( ) = 

= 20
10  = 2

1

(ii) 2  3  2, 3, 4, 6, 8, 9, 
10, 12, 14, 15, 16, 18, 20 
2  3 

 = 13 
P (2  3 ) 
= 32

=  20
13

(iii)  20  2, 3, 5, 7, 
11, 13, 17, 19 

 = 8 
 P( ) 
= 

= 5
2

20
8 

(iv) 10  1, 2, ... 9, 11, 
...19 = 18 
P(10 ) 
= 10

= 10
9

20
18 




